

Amy Sundberg 918-550-0496 amys@l-mofficefurn.com 12424 E 55th St Tulsa, OK 74146

BAPS Transportation Hub -OU Contract Pricing

Bookcases

2 HS72ABC

Brigade Bookcase 5-Shelf 12-5/8D x 34-1/2W x 71H

Select Paint Color: P1 Paint Opts
Select Grade 1 Paint: Charcoal

		Subtotal for: Bo	ookcases	\$666.12
CUBICLES				
2	HCTL241L Left-hand Cantilever 24"D Select Paint Color: Select P1 Paint Select Grade 1 Paint: Charcoal	Sell:	\$26.88 Ext. Sell:	\$53.76
3	HCTL241R Right-hand Cantilever 24"D Select Paint Color: Select P1 Paint Select Grade 1 Paint: Charcoal	Sell:	\$26.88 Ext. Sell:	\$80.64
8	HEC80PLN 80H "L" Connector Post Select Paint Grade: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$94.08 Ext. Sell:	\$752.64
2	HEC80PTN 80H "T" Connector Post Select Paint Grade: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$91.14 Ext. Sell:	\$182.28
1	HEC80PXN 80H "X" Connector Post Select Paint Grade: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$87.78 Ext. Sell:	\$87.78
8	HECSL "L" Connector Strap	Sell:	\$9.66 Ext. Sell:	\$77.28

QT	Y Product				Sell Price
2	HECST "T" Connector Strap	Sell:	\$13.86	Ext. Sell:	\$27.72
3 2 1	HECSX "X" Connector Strap	Sell:	\$16.38	Ext. Sell:	\$16.38
8	HEFEC80P Panel Finished End Covers 80H Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$43.26	Ext. Sell:	\$346.08
12	HES1524F Fabric Stacker 15H x 24W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway	Sell:	\$128.52	Ext. Sell:	\$1,542.24
10	HES1530F Fabric Stacker 15H x 30W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway	Sell:	\$138.18	Ext. Sell:	\$1,381.80
3	HES1536F Fabric Stacker 15H x 36W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway	Sell:	\$148.68	Ext. Sell:	\$446.04
4	HES1560F Fabric Stacker 15H x 60W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway	Sell:	\$191.52	Ext. Sell:	\$766.08
12	HETC24 Panel Top Cap 24"W Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$23.52	Ext. Sell:	\$282.24
10	HETC30 Panel Top Cap 30"W Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$27.72	Ext. Sell:	\$277.20

QT	Y Product				Sell Price
3	HETC36 Panel Top Cap 36"W Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$35.70	Ext. Sell:	\$107.10
4	HETC60 Panel Top Cap 60"W Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$50.40	Ext. Sell:	\$201.60
12	HETP6524FP Tackable Panel w/o TC 65H x 24W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$215.04	Ext. Sell:	\$2,580.48
10	HETP6530FP Tackable Panel w/o TC 65H x 30W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$226.80	Ext. Sell:	\$2,268.00
3	HETP6536FP Tackable Panel w/o TC 65H x 36W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$243.18	Ext. Sell:	\$729.54
4	HETP6560FP Tackable Panel w/o TC 65H x 60W Fabric Selection: Grd A Fabric Grd A Fab: Vast Vast: Highway Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$293.58	Ext. Sell:	\$1,174.32
2	HF23C Lock Core Replacement Kit Select Key Number: 104E Brushed Chrome	Sell:	\$28.14	Ext. Sell:	\$56.28
2	HF23C Lock Core Replacement Kit Brushed Chrome Select Key Number: 101E	Sell:	\$28.14	Ext. Sell:	\$56.28

QT	Y Product				Sell Price
2	HF23C Lock Core Replacement Kit Brushed Chrome	Sell:	\$28.14	Ext. Sell:	\$56.28
	Select Key Number: 105E				
2	HF23C	Sell:	\$28.14	Ext. Sell:	\$56.28
70	Lock Core Replacement Kit Brushed Chrome Select Key Number: 103E		Ψ20.14	Ext. Goil.	Ψ00.20
2	HF23C	Sell:	\$28.14	Ext. Sell:	\$56.28
-	Lock Core Replacement Kit Brushed Chrome Select Key Number: 102E				
2	HH871124	Sell:	#0.00	Ext. Sell:	\$0.00
	Electrical Pass-Thru Cable 25-1/2W 3-1 & 2-2 S		φ0.00	Ext. Sell.	ψ0.00
2	HH871130	Call.			ФО ОО
2	Electrical Pass-Thru Cable 30W 3-1 & 2-2 Syste	Sell: ems	\$0.00	Ext. Sell:	\$0.00
2	HH871224	Sell:	0404.00	F4 O11-	\$242.76
	Electrical Power Harness 24W 3-1 & 2-2 Systems		\$121.30	Ext. Sell:	Ψ242.70
4	HH871260	Sell:	40.00		ФО ОО
7	Electrical Power Harness 60W 3-1 & 2-2 Systems		\$0.00	Ext. Sell:	\$0.00
•	1111074504				
2	HH871501 Duplex Receptacle Circuit 1 3-1 & 2-2 Systems Select Duplex Color: Charcoal	Sell:	\$0.00	Ext. Sell:	\$0.00
2	HH871502	Sell:	\$0.00	Ext. Sell:	\$0.00
	Duplex Receptacle Circuit 2 3-1 & 2-2 Systems Select Duplex Color: Charcoal				
• 1	HH871503	Sell:	90 OO	Ext. Sell:	\$0.00
	Duplex Receptacle Circuit 3 3-1 System Only Select Duplex Color: Charcoal		φυ.υυ	EAG. OGII.	Ψ0.00
• 5	HH871504	Sell:	\$0.00	Ext. Sell:	\$0.00
	Duplex Receptacle Circuit 4 3-1 & 2-2 Systems Select Duplex Color: Charcoal		φυ.υυ	LAt. OGII.	Ψ0.00

QT	Y Product				Sell Price
2	HH879072 Base In-Feed Cable Base 3-1 & 2-2 Systems	Sell:	\$0.00	Ext. Sell:	\$0.00
7	HIWMBT Ign 2.0 Big & Tall 4-way Mesh Control Type: Synchro-Tilt Select Arm Type: All-Adjustable Arm Select Caster Option: All Surface Caster Select Mesh Color: 4-Way Black Select Upholstery: Grade 2 Uph Grade 2 Fab: Whisper Vinyl Whisper Vinyl: Antelope Select Lumbar: Black Adjustable Lumbar Select Base: Standard Base Select Frame Color: Black Headrest Selection: No Headrest	Sell:	\$595.56	Ext. Sell:	\$4,168.92
12	HSCKTPS Straight Connector Kit Select Paint Color: No Option	Sell:	\$13.02	Ext. Sell:	\$156.24
1	HTLD42 Preside 42"Round Shaped Laminate Top Edge Option: 2MM/Flat Select Edge Finish: Natural Maple Select Grommet: No Grommets Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple	Sell:	\$256.20	Ext. Sell:	\$256.20
1	HTLXP42 Preside Laminate Panel X Base for 42" Tops Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Charcoal	Sell:	\$241.08	Ext. Sell:	\$241.08
5	HVFB23R Box/Box/File 28H x 22 7/8D x 15W Select Lock Option: Lock Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$328.44	Ext. Sell:	\$1,642.20
5	HVFF23R File/File 28H x 22 7/8D x15W Select Lock Option: Lock Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$325.50	Ext. Sell:	\$1,627.50



10 **HWR2460P**Systems Rectangular Worksurface Edgeband 24D x 60W

Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple

Select Edgeband Color: Natural Maple Select Grommet Color: Charcoal

15 **HWSB**2

Worksurface Bracket Kit

Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal

HWSB2 Sell: \$27.72 Ext. Sell: \$415.80

Sell:

\$273.84 Ext. Sell:

		Subtotal for: C	UBICLES	3	\$25,151.70
DIRECTOR	R'S OFFICE				
1	H874 Brigade 800 Series Lateral File 4 Drawer 30W Lock Opts: Standard Random Key Lock Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$863.10	Ext. Sell:	\$863.10
	H1522 Wood Center Drawer 22W x 15-3/8D Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple	Sell:	\$111.72	Ext. Sell:	\$111.72
1	H38218L 38000 24D x 60W x 29-1/2H 2L w/Lock Flush Rtn Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$732.06	Ext. Sell:	\$732.06
1	H38293R 38000 36D 72W 2/R w/Lock Single Ped Desk Select Laminate: Grd L1 Standard Laminates	Sell:	\$1,101.66	Ext. Sell:	\$1,101.66

Select Grade 1 Laminate Finish: Natural Maple

Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal \$2,738.40

QTY Product Sell Price



1 HIWMBT Sell: \$595.56 Ext. Sell: \$595.56

Ign 2.0 Big & Tall 4-way Mesh Control Type: Synchro-Tilt

> Select Arm Type: All-Adjustable Arm Select Caster Option: All Surface Caster Select Mesh Color: 4-Way Black

Select Mesh Color: 4-Way Black Select Upholstery: Grade 2 Uph Grade 2 Fab: Whisper Vinyl Whisper Vinyl: Antelope

Select Lumbar: Black Adjustable Lumbar

Select Base: Standard Base Select Frame Color: Black Headrest Selection: No Headrest



1 HS72ABC Sell: \$333.06 Ext. Sell: \$333.06

Brigade Bookcase 5-Shelf 12-5/8D x 34-1/2W x 71H

Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal

Subtotal for: DIRECTOR'S OFFICE \$3,737.16

DISPATCH

2



HIWMBT Sell: \$595.56 Ext. Sell: \$1,191.12

Ign 2.0 Big & Tall 4-way Mesh Control Type: Synchro-Tilt

> Select Arm Type: All-Adjustable Arm Select Caster Option: All Surface Caster Select Mesh Color: 4-Way Black Select Upholstery: Grade 2 Uph

Select Wesh Color: 4-Way Black Select Upholstery: Grade 2 Uph Grade 2 Fab: Whisper Vinyl Whisper Vinyl: Antelope

Select Lumbar: Black Adjustable Lumbar

Select Base: Standard Base Select Frame Color: Black Headrest Selection: No Headrest

Subtotal for: DISPATCH \$1,191.12

Laterals



2 **H684** Sell: \$862.68 Ext. Sell: \$1,725.36

Brigade 600 Series Lateral File 36W 4-Drawer

Lock Opts: Standard Random Key Lock Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal

Subtotal for: Laterals \$1,725.36

QT	Y Product				Sell Price
OFFICE					
1	H38217R 38000 24D x 60W x 29-1/2H 2/R w/Lock Flush Return Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$732.06	Ext. Sell:	\$732.06
1	H38294L 38000 36D x 72W - 2L w/Lock Single Ped Desk Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$1,101.66	Ext. Sell:	\$1,101.66
1	H874 Brigade 800 Series Lateral File 4 Drawer 30W Lock Opts: Standard Random Key Lock Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal	Sell:	\$863.10	Ext. Sell:	\$863.10
1	H1522 Wood Center Drawer 22W x 15-3/8D Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple	Sell:	\$111.72	Ext. Sell:	\$111.72
1	HIWMBT Ign 2.0 Big & Tall 4-way Mesh Control Type: Synchro-Tilt Select Arm Type: All-Adjustable Arm Select Caster Option: All Surface Caster Select Mesh Color: 4-Way Black Select Upholstery: Grade 2 Uph Grade 2 Fab: Whisper Vinyl Whisper Vinyl: Antelope Select Lumbar: Black Adjustable Lumbar Select Base: Standard Base Select Frame Color: Black Headrest Selection: No Headrest	Sell:	\$595.56	Ext. Sell:	\$595.56

Subtotal for: OFFICE \$3,737.16

\$333.06 Ext. Sell:

Sell:

Brigade Bookcase 5-Shelf 12-5/8D x 34-1/2W x 71H

Select Paint Color: P1 Paint Opts Select Grade 1 Paint: Charcoal

HS72ABC

\$333.06

QTY Product Sell Price

TRAINING HMBPOST 12 Sell: \$2,731.68 \$227.64 Ext. Sell: Post leg base 4 pk Select Caster/Glide: Glide Select Paint Grade: P1 Paint Opts Select Grade 1 Paint: Charcoal 12 **HMT3048E** Sell: \$231.42 Ext. Sell: \$2,777.04 Huddle 30x48 Table Top w/T-mold Select Grommet: No Grommets Select Laminate: Grd L1 Standard Laminates Select Grade 1 Laminate Finish: Natural Maple Select T-Mold Color: Natural Maple **KN3003PP** 48 Sell: \$253.18 **Ext. Sell:** \$12,152.64 Knox Armless Stack Chair - All Plastic Plastic Colors (PC1): Tricorn Black

Subtotal for: TRAINING \$17,661.36

HON Surcharge \$999.81 Delivery & Installation \$3,795.00

Grand Total: \$58,664.79

Customer Signature:

Metal Frame Color (MF1): Matte Black

QTY Product Sell Price

L&M Office Furniture Order Acceptance Terms and Conditions

PAYMENT

Special Order product will require a deposit of 50% of the purchase price OR an authorized customer purchase order is required on all orders in advance of order placement. The buyer agrees to pay the remaining balance within fifteen(15) days after delivery by company check, cash, or equivalent non-credit card payment type. For purchases paid by a credit card, a fee of 3% of the sell price will apply. In the event of damage or delivery of incorrect product, the buyer may withhold payment on only the damaged or incorrect piece(s) of merchandise. L&M Office Furniture is responsible for the prompt replacement of any damaged or incorrect merchandise. Ownership of the merchandise will pass from L&M Office Furniture to the buyer when the full purchase price and all other charges due under this agreement are paid in full. In the event of construction delays or other causes not within L&M Office Furniture's control, the furnishings will be considered accepted by the buyer for the purpose of payment.

TAXES

Prices do not include any applicable sales, use, excise, or any other tax. Any applicable taxes will be added to prices at the time of invoicing and the buyer agrees to pay same.

CANCELLATION, CHANGES AND RETURNS

Signed customer Purchase Orders or deposits are considered intent to purchase, and are binding for special order product. A 50% restock fee, (of purchase price), will be charged for items ordered from the manufacturer and cancelled prior to receipt, or on products ordered and then returned to L&M within 30 days. Design, Installation and/or Delivery fees are not subject to re-stock fees or credit. Items retained by Customer beyond 30 days from the delivery/pick-up date are considered "used" and are not subject to return. However, L&M may, at its discretion, offer to purchase the "used" product back from Customer at prevailing market prices.

DELIVERY AND INSTALLATION

Customers requesting Delivery are expected to provide all building condition information pertinent to ensuring an effective and safe installation. Besides Floors, Stairs, Elevators and Doorway information, the area is expected to be empty and ready to receive the furniture delivery. Orders requiring Storage of more than 30 days will be charged a Storage Fee determined by the volume of product. Moving of existing furniture is not part of a normal delivery and can delay or postpone the delivery! If time allows, the moving of existing furniture will incur additional charges.

CONDITION OF THE JOB SITE

The job site shall be clean and free of debris and other trades prior to installation. Adequate facilities for off loading, staging, moving, and handling of merchandise(including elevator service) shall be provided.

DELIVERY DURING NORMAL BUSINESS HOURS

Delivery and installation will be made during normal working hours (Monday-Friday / 8-5) unless agreed to in the specifications above.

ASSEMBLY AND INSTALLATION

Product will be installed according to the manufacturer's specifications. The buyer will not hold L&M Office Furniture liable for any injury or damage that would result from wall mounted support channels and attached components becoming loose or insecure.

DAMAGE

After delivery, any loss or damage to product caused by other trades, weather, fire, or any other cause, shall be the responsibility of the buyer, and the buyer agrees to hold L&M Office Furniture harmless from loss for such reasons.

LIMIT OF INSTALLATION SERVICES

The price quoted includes one-time delivery and installation of all products at customer site. Additional delivery or installation is not included unless otherwise stated above.

CLAIMS

Claims for transportation damage shall be prosecuted by L&M Office Furniture. In the event of a drop shipment, the buyer is responsible for notating damage on any freight receiving documents and reporting damage immediately to Assemble Furniture Solutions

THIRD PARTY SPECIFICATION

If the furniture is specified or purchased through a third party, L&M Office Furniture will not be responsible for selections of size, type, fabric, style, or color of the furniture. This shall be the responsibility of the third party.

WARRANTY

Manufacturer warranty information is available upon request. Customer should inspect the goods subject to this transaction and rely on his/her own experience and judgment regarding the quality, use and usefulness of the goods. Most manufacturers may replace product/parts at no charge, but transportation of goods is not included. Customers requesting delivery or pick-up will incur a delivery fee.

Customers purchasing products marked "Used", "As Is" or "Discontinued" understand and acknowledge that all warranties of any type and nature are disclaimed by the manufacturer and L&M Office Furniture, including express warranties and implied warranties of merchantability, fitness for a particular purpose and usage of trade, in exchange for the Customer's special price consideration.

NO OTHER AGREEMENTS

There are no other agreements, expressed or implied, other than those specified herein and those set forth in the specifications, delivery and installation schedules. The terms and conditions set forth herein and the above mentioned documents may not be varied except upon the written request of both the buyer and L&M Office Furniture.

Signature:	Date:	PO #:
Approved By:	Title	e: